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1. Which of the following is(are) point estimator(s)?
a. o
b.
c. s
d o
2. A random sample of 16 statistics examinations was taken. The average score, in the sample, was

76.2 with a variance of 144. The 99% confidence interval for the true average examination score is
a. 49.677t0 102.723

b. 73.99 to 78.41

c. 67.359t0 85.041

d. 67.437 to 84.963

An interval estimate is a range of values used to estimate

(OH)

a. the shape of the population's distribution

b. the sampling distribution

c. asample statistic

d. apopulation parameter
Exhibit AA

n=16 x =75.76 s=8.246 Ho: p >80

Ha: p <80

4. Refer to Exhibit AA. The standardized test statistic equals

a. -2.12

b. -0.53

c. 0.53

d. 0.483

5. Refer to Exhibit AA. The p-value is equal to

a. -0.025
b. 0.05

c. 0.525
d. 0.025
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6. Ifa hypdthesis is rejected at 95% confidence, it
a. will always be accepted at 90% confidence
b. will always be rejécted at 90% confidence
c. will sometimes be rejected at 90% confidence

d. None of these alternatives is correct.

Exhibit BB
A statistics teacher wants to see if there is any difference in the abilities of students enrolled in statistics today
and those enrolled five years ago. A sample of final examination scores from students enrolled today and

from students enrolled five years ago was taken. You are given the following results.

Today Five Years Ago
Mean 82 88
Variance 112.5 54
Sample Size 45 36
7. Refer to Exhibit BB.  The point estimate for the difference between the means of the two populations
is
a. 585
b. 9
c. -9
d. -6
8. Refer to Exhibit BB. The point estimate for the standard deviation of the difference between the
means of the two populations is
a. 12.9
b. 9.3
c. 4
d. 2
9. A sample of 41 observations yielded a sample standard deviation of 5. If we want to test Ho:  o* =
20, the test statistic is
a. 100
b. 10
c. 51.25
d. 50
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Exhibit CC
The table below gives beverage preferences for random samples of teens and adults.
Teens Adults "Total
Coffee 50 200 250
Tea 100 150 250
Soft Drink 200 200 400
Other 50 50 100
400 600 1,000

We are asked to test for independence between age (i.¢., adult and teen) and drink preferences.

10.  Referto Exhibit CC. The calculated value for this test for independence is

a. 0

b. 84
c. 62.5
d. 825

11.  Refer to Exhibit CC. The result of the test is that the
a. hypothesis of independence can be rejected
b. hypothesis of independence cannot be rejected
¢. testis inconclusive
d. None of these alternatives is correct.

Exhibit DD
SSTR = 6,750 Ho:  i=po=ps=us
SSE = 8,000 H.: at least one mean is different
nr =20
12.  Refer to Exhibit DD. The test statistic to test the null hypothesis equals
a. 022
b. 0.84
c. 4.22
d. 45

13.  Refer to Exhibit DD. The null hypothesis is to be tested at the 5% level of significance. The
critical value from the table is :

a. 2.87
b. 3.24
c. 4.08

d. 8.7
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Exhibit EE
You are given the following information about y and x.

14.

15.

16.

17.

18.

19.

c.
d.

b.

c.
d.

A
a
b.
c
d

y X
Dependent Variable  Independent Variable
5 15
7 12
9 10
11 7

Refer to Exhibit EE. The least squares estimate of by equals
a. ‘

-0.7647

b. -1.3
C.
d

164.1176
16.41176

Refer to Exhibit EE. The coefficient of determination equals
a.

-0.99705

b. -0.9941
C.
d

0.9941
0.99705

If the coefficient of correlation is a positive value, then

a.
b.

the intercept must also be positive

the coefficient of determintion can be either negative or positive, depending on the value of the
slope

the regression equation could have either a positive or a negative slope

the slope of the line must be positive

In multiple regression analysis, the general linear model
a.

can not be used to accommodate curvilinear relationships between dependent variables and
independent variables

can be used to accommodate curvilinear relationships between the independent variables and
dependent variable

must contain more than 2 independent variables

None of these alternatives is correct.

a power curve
a control chart
an operating characteristic curve

. None of these altematives 1s correct.

A control chart that is used when the output of a production process is measured in terms of the
percent defective is
a.

a P chart

b. an X bar chart
c.
d. None of these alternatives is correct.

a process chart

graph showing the probability of accepting the lot as a function of the percent defective in the lot is
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Exhibit FF

f(x) =(1/10) e™? -x>0 P

20. Refer to Exhibit FF. The mean of x is

a. 0.10
b. 10
c. 100
d. 1,000
21.  Refer to Exhibit FE. The probability that x is between 3 and 6 is
a. 04512
b. 0.1920
c. 0.2592
d. 0.6065

22. A population has a mean of 300 and a standard deviation of 18. A sample of 144 observations will
be taken. The probability that the sample mean will be between 297 to 303 is

0.4332

0.8664

0.9532

0.0668

O oW

Exhibit GG
In a regression analysis involving 25 observations, the following estimated regression equation was

developed.

Y =10- 18X +3Xz + 14Xs

Also, the following standard errors and the sum of squares were obtained.
Sti=3Sw=6 Sp=7
SST =4,800 SSE = 1,296

23.  Refer to Exhibit GG. If you want to determine whether or not the coefficients of the independent
variables are significant, the critical value of t statistic at o = 0.05 is
a. 2.080
b. 2.060
c. 2.064
d. 1.96
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24.  Refer tp Exhibit GG. The coefficient of Xa

is significant

is not significant

can not be tested, because not enough information is provided
None of these alternatives is correct. ’

A o

25.  Refer to Exhibit GG. The multiple coefficient of determination 1s

a. 0.27
b. 0.73
¢. 0.50
d. 0.33
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©4.2793

16145
18513
10,128
7.7086
6.6079 |
5.9874
5.5914
5.3177
5.1174
4.9646
4.8443
4.7472
4.6672
4.6001

45431
4.4940
44513
44139
4.3808
43513
43248
4.3009

42597
42417
42952
4.2100
4,1960
4.1830

4.1709
4.0848
4,0012
3.9201
3.8415

199,50
15.000
9.5521
6.9443

5.7861
5.1433
47374
4,4590
4.2565
4,1028
3.9823
3.8853
3.8056
3.7389

3.6823
3.6337
3.5915
3.5546
3.5219
3.4928
3.4668
3.44341
3.4221
3.4028

3.3852
3.3690
3.3541
3.3404
3.3277
3.3158
3.2317
3.1504
3.0718
2.9957

215.71
19.164

9.2766
6.5914 |

5.4095
47571
4,3463
4.0662
3.8626

3,7083
3.5874
3.4903
3.4105
3.3439

3.2874
3.2389
3.1968
3.1598
3.1274
3.0084
3.0725
3.0491
3.0280
3.0088

2.9912
2.9751
2.9604
2.9467
2.9340

2.9223
2.8387
2.7581
2.6802
2.6049

224,58
15.247
91172
6.3383

5.1922
45337

41203
3.8378
3.6331
3.4780'
3.3567 ;

3.2592
31791
3.1122

3.0556

3.0069 |

2.9647
2.9277
2.8951

2.8661
2.8401
2.8167
2.7955
2.7763

- 2.7587

2.7426
2.7278

27141

27014

2.6896
2.6060
25252
24472

2.3719

H
H
§

230.16
19.296 |
0.01%5
6.2560"
5.0503
43874
3.0715
3.6875

3.4817

33258
3.2039
3.1059
3,0254
2.9582
2.9013 !
28524
2.8100
2.7729
27401
2.7109
2.6848
26613
26400
26207
2.6030
25868
25719
25581
2,5454

2.5336
2.4495
2.3683
2.2900
22141

233.99
19330
8.9406'
6.1631
4.9503°
42830
3.8660
3.5806
3.3738
32172
3.0046°
2.9961 |
2.9153
2.8477 |
2.7905 |
27413
2.6987 |
2.6613
26283
2,500
25757
25491
25277
2.5082
2.4904
9.4741
2.4591
2.4453
2.4324

2.4205
2.3359
2.2540
9,170’
2,0986

-2.3593

936.77 |
19.353 }
8.8868

6.0942
4.8759
4.2066
3.7870
3.5005
3.2927
3.1355
3.0123
2.9124
2.8321
9.7642

27066

2.6572|

2.6143
25767
2.5435
2.5140
24876
2.4638
2,422
2.4226
2.4047
2.3883
2.3732

2.3463
2.3343
2.2490
2.1665
2.0867
2.0096

938,88

19.371
8.8452
6.0410

4.8183

41468

3.7257
34381

3.2296 .

3.0717
2.9480
2.8486
27669
2 6987
2.6408
2.5011
25480
25102
2.4768

94471

2.4205
2.3965

2.37481

2.3551
2.3371
2.3205
2.3053
2.2013

. 22782

2.2662
2.1802
2.0970
2.0164
1.9384

240,54
19.385
8.8123
5.9988
47725
4.0990
3.6767
3.3881
3.1789

3.0204
2.8962
9.7964
2.7144
2.6458
2.5876
25377
9.4943
9.4563
2.4227
2.3928
2.3661
2.3419
23201
2.3002
2.2821
2.2655
2.2501
2.2360
2.2229
9.2107
2.1240
2.0401
1.9588

1.8799 i




